Ww%mﬁ/ﬂ%/y%m

et

) Lo [fm 2 M] L. ﬁmzzm 76%)

Ao Koo x’on

1_7& 60—) 3(1—7} E L &(‘7' /é"”’ Z(")

(s

D [ [&WW %Mﬁm c»)% 0
xoa j/(ﬂ«) 0o 7&)

ron

mLpM}L A

H > > o

ém = o ﬁ,mlpm

x>0

Y)L"JFV m

e L ém] = [g:ﬂa. 5(1»)T

m) LA L“OM]: L[ﬂm

PSS Yoso

2

L n/ con [&M] = w/ces [ZM

H=on >0

éw]

mbﬁth

> o A>n

é.ﬁm Lno

x>0 >0

j — - U

EALS

de Ay [ix]

®>0 x
AL K Lé}t —> &LQusa,é Theolen
*
ISR TTN I WY
w>0 x* x>0

L"«/{Jw X Tewvs Te Al

Do - 36 = 100

=)0

50 me G,fAMQES
e ey e i

N consTant 16 1 own L

). [,M 27 = szm?

4 3
X‘>/Z r=>2

1 L«n x£-3 — Witost Mamplhtion, fis Wik Leto To An
>0 x-3

Uvbeaives Result

S5 ot e 0 So (E-A) = (E-F)
LSRN @

arn (-8 =Ge- 00
G = X ok -4 -3
=(GE-9)

LW GeeNGers) - LM KrS=

A>3 },/3 A>S

) lw Dé-t > ews e War v Maidlare
x>y 2n- e
41 +ox -1 (2%

4 =2 2+A+1

Hpe—ex

0 -2x-} Gomis meaws
2x+44

> 4 -4 = Cax +4)(2%-1)

L (2r+4) (%) jw Zesds(2h)et=2
X"’ }/5 ‘»7, T


https://goodnotes.com/

